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3.08 Real-World Quadratic Functions 
NAME: Answer questions as directed. 

Select the correct answers. 

1. 
Which two of the following quadratic equations have a maximum value? 
 FORMCHECKBOX 
  y = 2x² - 4x – 10

 FORMCHECKBOX 
  [image: image2.png]y=—>x"+

Sx+4




 FORMCHECKBOX 
  y = x² - 6x + 16

 FORMCHECKBOX 
  y = -(x – 2)² + 3

 FORMCHECKBOX 
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Explain how you determined your answer.      
The equation below represents the relationship between the time (t) in seconds a firecracker is shot in the air and its height (y) in feet (ignoring air resistance and wind).  Answer the questions that follow. 

y = -16t² + 256t
2. Find the height of the firecracker at each of the following times. 

	Time
(in seconds)
	Height
(in feet)

	0
	     

	4
	     

	8
	     

	12
	     

	16
	     


3. A pyrotechnician wants a fireworks explosion to occur at the maximum height along the path of the rocket. He uses a fuse that is advertised to burn at 0.3 inches per second. What length should the fuse be so the rocket explodes at the appropriate time? 

 FORMCHECKBOX 
 0.3 inches 

 FORMCHECKBOX 
 1.2 inches 

 FORMCHECKBOX 
 2.4 inches 

 FORMCHECKBOX 
 3 inches 

Write a short paragraph explaining how you found this answer. 

     
You decide to start a small business selling monogrammed handbags with a friend. Your initial investment in equipment is $300. The Better Business Bureau helps you determine that the profit (y) in dollars you can make from selling x number of bags is represented by the equation below. Answer the questions that follow. 

y = -x² + 60x - 300

4. How much will your profit or loss be if you sell 10 bags? 

 FORMCHECKBOX 
 Loss of $250 

 FORMCHECKBOX 
 Loss of $300 

 FORMCHECKBOX 
 Profit of $200 

 FORMCHECKBOX 
 Profit of $400 

Show your work. 

5. In order to maximize your profit, how many handbags would you sell? What is your maximum profit?  

 FORMCHECKBOX 
 30 bags for a profit of $600 

 FORMCHECKBOX 
 30 bags for a profit of $900 

 FORMCHECKBOX 
 40 bags for a profit of $600 

 FORMCHECKBOX 
 50 bags for a profit of $500 
Show your work. Explain in paragraph form how you found your answer. 

     
